
Property Owner: Justine Saudan 
Mailing Address: 1519 E Breckinridge Street 
Louisville, KY 40204 
 
ATTN: Leslie Lum, 
 
My name is Justine Saudan, I own the property at 1410 NE Gertz Rd (or property ID for lots through 
Portland Maps (R171716). I support the attached proposal for an R-20 zoning change request of my 
residential farming property by removing the Industrial Sanctuary designation. I believe this offers the 
most realistic way to find a creative, future balance that truly respects residential livability and real 
biodiversity of natural habitat, both of which are grossly undermined now when there has been no 
attempt to address the past planning/development failures that led to such relentless, negative impact 
produced by 24-hour trucking operations on nearby industrial properties. 
 
Thanks, 
 
Justine Saudan 
Strategic Initiatives Director 
Office 502.515.3141 
Cell 503.442.5443 
www.kyhumane.org 
jsaudan@kyhumane.org 
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